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216-01 BBUIS0IXt=+ 145,000 145,000 0
< ABIEXD > 145,000 145,000 0
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220 LAIZ A2+ 38,635,845 31,587,040 7,048,805
222 2013 103,517 51,506 52,011
222-01 2= K| H & Of 103,517 51,506 52,011
< ANBEXD > 103,517 51,506 52,011
O=HAHY0I2 103,517
224 M 19,380,705 13,368,820 6,011,885
224-03 JIE+E H & 19,380,705 13,368,820 6,011,885
< AB=XD > 19,380,705 13,368,820 6,011,885
CHEICPRSE= 19,380,705
226 X224+ 6,000 6,000 0
226-01 SItS X2 6,000 6,000 0
< ANB=XD > 6,000 6,000 0
o2zt SN2 6,000
227 23 18,859,423 17,960,714 898,709
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< ANBIEXD > 18,859,423 17,960,714 898,709
O AlZE 18,859,423
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CELICES=WN 100,000
228-09 JIEF& 4 186,200 100,000 86,200
< AB=XD > 186,200 100,000 86,200
ORH0IS2 S 186,200
500 252 155,119, 155 147,067,960 8,051,195
510 22 X3S 155,119, 155 147,067,960 8,051,195
511 2N2X3S 155,119, 155 147,067,960 8,051,195
511-01 2 N2 X2 155,119, 155 147,067,960 8,051,195
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